8. UARTITIT]

3.1 UARTT]

8.1.1 UART

UARTIIIIIIIIIIITUniversal Asynchronous Receiver/Transmitter) T T T TIITIIIIIOTL

(OUARTITTITTUSARTITIIIVIIIITIVOTUniversal Synchronous/Asynchronous Receiver/Transmitte
UARTHTTTTTT T T O T T TTTTTTTTITTUSARTIOUAR T T T T T T T T T T T T T I TIVART I T TiserialJCOI

8.1.2 UART

1) UARTLIITIITTTIT TLTTIIT

UARTX_TXDTITITTITIIITTITIVARTX_RXDITT]

UARTX_RXDTTTITTITTTITTITVART X _TXDTIT]

GNDIITITITIITTTITT]

age noffpund or type unknown

MOUARTIT TLOT O TR O OO T TR TR VI T2 -4 VI3 - 4V TN

I

2[TTLITIRS232(T]

[LITTIT]

age noffpund or type unknown




RS232[TIIT*1 "[T5V ~-15 VIII*0"[IIIH+5 V+15 VIIIIIIIIIIIITIT TLORS232[TTTIMAX2 32[ISP:

3OTTLITUSBI]

éezaund or type unknown

OTTLOTTTUSBTID+OD-ITTTITTNRZITTII IO TLOUSBIITTIPL23030CH340, CP2102[]

100ASK_IMX6ULLTTITIIIIIIIIITTLOVUSBIIT

8.1.3 UART

UARTITITIITTTITTTITITIT

T TIIIITITIT1119600,19200,115200[]

O T T TUART T T T (T 8T+ LTI T+ 1T

[LITITTIIT]

Yaund or type unknown

[T 8T TH 1T+ 11T 1T

OTTASCIOTT A'0TDASCHIA I IIITITIITIIIT0100 000 1MTTIITTLSBOTTITIMS BOTITIIIIIIT
(LTI

1) 0

NERNNNNRNNRRRRRNRNEEN

2) [Tk

OITTTVARTITVARTX _TX DT I TTTTIT0M

3) Ik

050607 D8 T T T T T8 T T T T T A T A A T T T

[ITA’08[IIITIT10100 O0O1TTTTTIoit OITTIITTbit 1ITTIOMTTIIITTTIITbit 7(ITTI00

4) 11T



O T R A T LT

T8 T T O T 1" 021

5) 0N

T

(LTI L ST T AT

8.2 IMX6ULL UART[ITTI

UART:Universal Asynchronous Receiver/TransmitterTTTITITTIT]

8.2.1 IMX6ULL UART

IMX6ULLS[TTTVARTIITIS[UARTIIIIIIT]

a.[IIIIIIIITIA/EIA-232-FIT5Mbit/s[]

b.IITTTTTTIROTOIr-DAOTITI15.2Kbit/s[T]

C.[IOUITITTRS-48 SITITTTIITIT]

d. 1211

f. I 15. 2Kbit/s[T]
9.1

h.[ITISRST B[

MO IChapter 55 Universal Asynchronous Receiver/Transmitter(UART)[]

8.2.2 IMX6ULL UART

IMX6ULL 8OUARTITTITIITTN 7 T T T T T T T T T O]

UART1ITTITIT]



ﬁe%aund or type unknown

(TIIITIITIITITo]

8.2.2.1 UART1 URXD[]

O I I T

%aund or type unknown

8.2.2.2 UART1 UTXD[]

O T T

%aund or type unknown

8.2.2.3 UART1 UCR1[]

(11171

%aund or type unknown

8.2.2.4 UART1 UCRZ2[]
MR R TS5 VAR T

ée%aund or type unknown

8.2.2.5 UART1 UCR3[]
TR IIDbit2 [T

ée%aund or type unknown

DMAT T TeitOOTIIITT




8.2.2.6 UART1_UFCR[]
[FIFOLT T T fifol T T3 2T T TTTTTRF DIV T T TUARTTI

ﬁezaund or type unknown

8.2.2.7 UART1 USR2[]

XDCIITTROROIIITITIITITTVARTIIIITI
ﬁezaund or type unknown

8.2.2.8 UART1 UBIR[JUART1 UBMR[]
UARTIIIIIIL]

hapter 55 Universal Asynchronous Receiver/Transmitter(l

8.3 IMXoULL UART]

8.3.1 UART

ﬁezaund or type unknown

T TVARTOUSBOTTITTITVARTIITIMX6ULLITITIChapter 55 Universal Asynchronous Receiver/Tre

8.3.2 [ITIUART1

AT T T uart.c

8.3.2.1 [[L[IIIIIUART1[I]

QI TUARTIIITIIIITITITIChapter 18: Clock Controller Module (CCM)[]

OIIIUARTIIIIIIIILICCM_CSCDR1[]



age noffpund or type unknown

[MIIIIIIIIIITICCM_CSCDR1 [UART_CLK_SEL]CCM_CSCDR1 [UART_CLK_PODF][]

age noyfpund or type unknown

TNCCM_CSCDRITTTIIIITIN

CCM_CSCDR1 [UART_CLK_SEL]TITI00CCM_CSCDR1 [UART CLK_PODFIIITI0

(IIT11 pl13_80m [TJ UART [ITTTJUART_CLK_PODFITITIIITIIIIITITIVARTIIIITI8 OMHZ[]

age noffpund or type unknown

[T O T T T T T

QMITIUARTIIIIIIITICCM_CCGR5[]

age noffpund or type unknown

(ITICCM_CCGRS5[ITITITITITICCM_CCGR5[CG12] [TT]1111

[IITT#-1.3 CCMIITITTIGPIOMTTITTITTITI I TITTTITTTTTITTTTTIT

(T ITIOTITT I

8.3.2.2 [[RIIITGPIOUART1[]

(ITIGPIOQUARTLIITITIIITIITIChapter 32: IOMUX Controller (IOMUXC)[J

[T TR OGN DO T TTITITIGPIOM] UART1_TXDUART1_RXD[]

OIITVARTL_TX[IIT]

[TIITIOMUXC_SW_MUX_CTL PAD UART1 TX_DATA[

age noffpund or type unknown




[TIIIIIOMUXC_SW_MUX_CTL_PAD_UART1_TX_DATA[MUX_MODE]IIITO101ITIIIIIIIIOITIUART Tx
@[IITVART1_RXIIT]

[IIITIOMUXC_SW_MUX_CTL_PAD_UART1_RX_DATA[

age noyfpund or type unknown

[TIIIIOJOMUXC_SW_MUX_CTL_PAD UART1 RX_DATA[MUX_MODE]IIITIO101IIIIIIIIITOITIUART R}

IOMUXC_SW_MUX_CTL_PAD_UARTL_TX DATATE (volatile unsigned int *)(0x20E0084);
TOMUXC_SW MUX_CTL PAD UARTL RX DATATE (volatile unsigned int *)(0x20E0088);

*IOMUXC_SW_MUX_CTL PAD UARTL RX_DATA
*TOMUXC_SW_MUX_CTL PAD UARTL TX DATA

0;
0;

® [MIIUART1_TXIIIIIIII]OMUXC_SW PAD_CTL PAD UART1 TX_DATA[]

[ITIT¥-1.3 IOMUXCHIIIII(ModeTT) IITIIITIITIITIOX 10b 0TI

@ [TITUART1_RX[IIIIIIILIOMUXC_SW_PAD CTL PAD UART1 RX_DATA[]

[IT1T14-1.3 IOMUXCIITITI(Mode[TT) I TITITTITIITIOX10bOTTIITIT

8.3.2.3 [IBRTIVARTLIIIIIII]

[MUARTIIIITIN

® [IITIVUART1_UCR2[]J0x2020084[]

age nojfpund or type unknown

age noyfpund or type unknown

[MUARTL[IIT]

UARTL- >UCR2 | = (1<<14) | (1<<5) |(1<<2)|(1<<l);

[14] 1ITRTSM



(8] : O: I OTIOIIT

(6] : 0: III10 OO0
(51: 1: 01180
(2] : 1: 1110
[11: 1: (01010

Q@[ITITTIUART1_UCR3[J0x2020088[]

age noyfpund or type unknown

age noyfpund or type unknown

[[IIIII1] [RXDMUXSELITIIIL0

[2] : 1:IMOULLOUARTITIMUXEDOTTIIIITIIITL

[LI11D

UART1->UCR3 | = (1<<2);

G[ITIUART1_UFCR[J0x2020090[]

age noffpund or type unknown

age noffpund or type unknown

UART1_UFCR[9-7 JOUARTIIIIIIT]

[T O ITTITISTTITTTT]

UART1->UFCR = 5 << 7; /* Uar t[ITklk[BOMHz */

@[TTIUART1_UBIR[J0x20200A4[], UART1_UBMR[J0x20200A8[]

[MIIUART1 UBIRQUART1 UBMR[IIIIIIIL]



age noffpund or type unknown

age noyfpund or type unknown

IMX6ULLTTIIIIL

age nojfpund or type unknown

a.[[11152001111BaudRate = 115200(]
b.UARTL1IIIIIIIIIITIBOMhzRef Freq = 80000000[]
C.IMX6ULL[TTTTTIT1115200 = 80000000 /(16*(UBMR + 1)/(UBIR+1))[]

d.[JTTTTTITIITIUBMROUBIRIT]

e. UART1_UBIR = 71 JUART1_UBMR = 3124

UARTL- >UBIR

71;

UARTL- >UBMR = 3124;

8.3.2.4 [[B[ITUART1

[MUART1UART1_UCR1(0x2020080)[TIIIT]

age noffpund or type unknown

age noffpund or type unknown

[(MUART1_UCRI[O]JOLITTIUARTQ OIITIUART(]

Base->UCRL | = (1 << 0); [IJ/*[IIIIII*/

8.3.3




8.3.3.1 [[I1[ [IVARTL[IIIIIT

(T T T I T IO T

T TVARTT_USR2[TTTTIVART LITTIIIIITI TXDCIO

age noyfpund or type unknown

UART1_USR2[3] : O[TTIIIN 0 1[I

[MITTuart.c

void PutChar(int c) 11111

{

while (! ((UART1->USR2) & (1<<3))); /*{OIIIIITITT/
[UARTL->UTXD = (unsigned char)c; 1]

}

8.3.3.2 [TR[IIIIIIIImain[I]

[IIITImain.c

#include "uart. h"

int main()
{

[unsigned char cTestData = 'A'; /*[IIITITII/
Mart Init() 0 ;

while(1)
KO
[TPutChar(cTestData);

0

[return 0;
}

TGt NoosProgramProject/(8_UART[ITTY001 uart_txd_char)[ITIT]

8.3.3.3 [IBRIII¥-1. 40110



8.3.3.4 [MTAUIIIIB-1. AT ITITITITT]

ge nof’|[found or type unknown

(T A

8.3.4

8.3.4.1 TIAJTUARTIIIITIIT]

[MUARTI T TITITTITITTVART1 _USR2[TTITITTITIRORI[

age noffpund or type unknown

UART1_USR2[0] : O 1OTITIIIITT]

[ITTuart.c

unsigned char GetChar(void) [I111T]

{0

[while (! (UART1->USR2 & (1<<0))); /*[{III1*/
[(return (unsigned char)UART1->URXD;

}

8.3.4.2 [TR[IIIIIIIMmain[I]

T Omain T T T T

(IITTmain.c

#include "uart. h"

int main()

{

[(unsigned char cTestData ; Vannnnnnnng;
Wart Init()0;

while(1)



MO

[[cTestData = GetChar() ; ITIV*TITITIT*/
[TPutChar( cTestData) s Y/ * LT/
s

[return 0;
}

(ITIIIIT#.4.4 O34 O

age noyfpund or type unknown

100ask.6ullTTTTTTIIIT

T IIIIIIIIIITIGItT] NoosProgramProject/(8_UART[ITTY002_uart_txd_char)[ITIT]

8.3.5

T T T O ain [T

[IITTmain.c

while(1)
{0
cTestData = GetChar() ; [ITIV*[IIIIIIILT*/

if (cTestData == '\r') [IV*IIIIAn\r*/

{
PutChar('\n');
}
if (cTestData == '\n')
{
PutChar('\r');
}

PutChar( cTestData) ; O/ * 0TI/

[T 0N OO T




T IIIIIIIITITIGItT] NoosProgramProject/(8 UARTIITTY003 uart_better_char)ITIT]

8.3.6

8.3.6.1 [TIITTIITITT

T OO T

ITTmy_printf.c

void PutStr(const char *s)[II1]
{

while (*s)

K

[TPutChar( *s);

Ik ++

[

}

8.3.6.2 [TR[IIMain[IITITIIIIIIIII]

Omain[ITTTITITIITIIT]

[(IITTmain.c
PutStr("Hello, world!\n\r"); /*[IIIII*/

I TITTTTTTIGItT] NoosProgramProject/(8 UARTIITY004 uart _str)[T11T]

8.3.6.3 [IBIIIITA-1.4I1IIITIT]

8.3.6.4 [TAIIIIIB-1. 4111 IIITIIITIIIT
[IITITHelloworld[]

Hello, world!

8.4 [Tprintf




8.4.1[]1.3

@[uart.c[Iraise[IIIIIIIIII

MIITuart.c

119 int raise(int signum) /* raise[TTTITIIT] */
120 {

121 return 0;

122 }

@[TMakefile

my_printf. QT TITTTTITITITA T TI T Hibgec.adTITTTlibgec.a[ITITITIITI TMakefile[]

T - L OO - OO T THe ce T libgec.a” (]
[Makefile[TTTIT]

a. [1$(CC) -nostdlib -g -c -0 my_printf.o my_printf.c

b. 0$(LD) -T imx6ull.Ids -g start.o uart.o main.o my_printf.o -0 my_printf.elf[IT]
-lgcc -L<libgcc.a[ITl>

TI$(LD) -T imx6ull.lds -g start.o uart.o main.o my_printf.o -o my_printf.el§cc

-L/home/book/100ask_imx6ull-sdk/ToolChain/gcc-linaro-6.2.1*-2016.11-x86_64_arm-
linux-gnueabihf/lib/gcc/arm-linux-gnueabihf/6.2.1

8.4.2

[vc6.0[IITktdarg.h[IT]

typedef char * va list;

#define INTSIZEOF(n) ( (sizeof(n) + sizeof(int) - 1) & ~(sizeof(int) - 1) )
#define va start(ap,v) ( ap = (va list)&v + INTSIZEOF(v) )

#define va _arg(ap, t) ( *(t *)((ap += _INTSIZEOF(t)) - _INTSIZEOF(t)) )
#define va_end(ap) (ap = (va list)0 )



10 _INTSIZEOF(n) I

2[lva_start(ap,v) JapdIIITI1T]

30 va_arg(ap,t) [T
4]va_end(ap) (ITTONULLOTITT]
O Oerintf

(Tint printf(const char *format, ...)[TTTTTImy_printf

ITTmy_printf.c

int printf(const char *fmt, ...)

{

va list ap;

va start(ap, fmt);
my vprintf(fmt, ap);[
va_end( ap);

return 0;

8.4.3 [TImy_vprintf(fmt, ap)

[Mint vprintf(const char *format, va_list ap)IImy_vprintf

(ITTmy_printf.c

static int my vprintf(const char *fmt, va list ap)
{

[char lead=' ';

Jint maxwidth=0;

[ for(; *fmt !'= "\0"; fmt++) I
04

if (*fmt !'='%") {10
[QToutc(*fmt); [T1TJ

[IIkontinue;

0o



[ lead=' ';
(1] maxwidth=0;

[IV/format : %08d, %8d, %d, %u, %X, %f, %C, %S
M fmt++;

THLf(*fmt == '0"){

[IIllead = '0';

OOfmt++; 0

iy

[Mwhile(*fmt >='0" && *fmt <= "'9"){
(IImaxwidth *=10;

[[maxwidth += (*fmt - '0"');

[T mt++;

[

[(bwitch (*fmt) {
[case 'd': out num(va arg(ap, int), 10, lead, maxwidth); break;
case '0': out num(va arg(ap, unsigned int), 8, lead, maxwidth); break; [IT]
[kase 'u': out num(va arg(ap, unsigned int), 10, lead, maxwidth); break;
[kase 'x': out num(va arg(ap, unsigned int), 16, lead, maxwidth); break;
[kase 'c': outc(va arg(ap, int )); break; 1]

case 's': outs(va arg(ap, char *)); break; [ [0

default:
[Moutc( *fmt);
0 break;
il
il
[Feturn 0;
}

8.4.4 [Tlout_c[Jouts[lout_ num

I void PutChar(int c)[Tlout_cfloutsfout_num[Toutc[TTTITTITI%CcIIT]

(IITTmy_printf.c



static int outc(int c)
{

[PutChar(c);

[return 0;

}

outs[TTTITTTTI%sIT]

IITTmy_printf.c

static int outs (const char *s)
{

while (*s !'="\0")[

[TPutChar( *s++);

[return 0;

}

out_ numITTTTTTT%d[%o0% u%XT1T]

ITTmy_printf.c

static int out num(long n, int base, char lead, int maxwidth)
{

unsigned long m=0;

char buf[ MAX NUMBER BYTES], *s = buf + sizeof(buf);

int count=0, i=0;

*¥--5 = "\0';
if (n < 0){
m=-n;
}
elsef{
m=n;
}
do{

*--s = hex_tab[ m%base];

count++;



Ywhile ((m /= base) != 0);

if( maxwidth && count < maxwidth) {

for (i=maxwidth - count; i; i--)[]

*--s = lead;

return outs(s);

8.4.5 [[Imy_printf test

(IITTmy_printf.c

int my printf test(void)

{
printf("This is www. 100ask. org my printf test\n\r") ;[
printf("test char =%C, sc\n\r", "A','a") ;[
printf("test decimal number =%d\n\r", 123456) ;
printf("test decimal number =%d\n\r", -123456) ;[
printf("test hex number =0x%x\n\r", 0x55aa55aa) ;[]
printf("test string =%s\n\r", "www. 100ask. org") ;[

printf("num=%08d\n\r", 12345);
printf(" num=%8d\n\r", 12345);
printf("num=0x%08x\n\r", 0x12345);
printf("num=0x%8x\n\r", 0x12345);
printf("num=0x%02x\n\r", 0x1);
printf("num=0x%2x\n\r", 0x1);

printf("num=%05d\n\r", 0x1);
printf("num=%5d\n\r", 0x1);

return 0;



8.4.6 [TImain

Omain[IITITT118. 3. 5[11my_printf_test[IT]

(TIITJmain.c

#include "my printf. h"
#include "uart. h"

int main()

{
Uart Init();
my printf test(); [0
return 0;

}

MITTTTTITIGitT] NoosProgramProject/(8_UART[IITY005_myprintf _test)[]

8.4.6.1 [TNIITITA-1.A0TITIITT]
8.4.6.2 [TRIIIB-1. 4TI

T T

This is www. 100ask. org my printf test
test char =A a

test decimal number =123456

test decimal number =-123456

test hex number =0x55aa55aa
test string =www. 100ask. org
num=00012345

num= 12345

num=0x00012345

num=0x 12345

num=0x01

num=0x 1

num=00001

num= 1

HERRRRNNNNRRARNNNNRE

O IIITIITGIt NoosProgramProject/(8_UARTTIY005_printf_testTTTTTTTTITTTIIITITITTIII
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